SUPPLEMENTAL NOTES: stamatov - popov bulgaria_

[1] 1CL-? 1DI:0-6 any or 12+ NAT; 1M:6+ 4+M;1NT:S/O in x or 13+ BAL w/o 4M;2CL:3+ cards 7-9 HCP;2DI/HE:TRF 6M 5-6 HCP;2S|
3CL/DI:NAT INV if STR NT;3M:SPL 8+ (54)+mm;3NT:NAT
1CL-1M-1NT(15-18)-? 2x:UTRF;2NT:INV 1CL-1M-3DI:4 fit 15-18 BAL.
[2] 1CL-1M-1NT(11-15)-? 2CL:S/O in DI or any INV;2DI:FG ART;2M:S/O;
1DI-1IM-1NT(11-15 BAL)-? the same; 1HE-1SP-1NT-? the same
1DI-IM-INT(I-1 VUL and I-1l VUL at 4-th seat:NONBAL 3 cards SUPP in M)-? the same
[3] 1M-2NT-? 3CL:BAL;3DI:11-15 any SPL;3HE/SP/NT:SPL CL/DI/OM;4x:55+
1M-2NT-3CL-? 3DI:BAL;3HE/SP/NT:SPL CL/DI/OM; 1M-2NT-3DI-? 3HE:ASK SPL;3SP/NT/4CL:SPL CL/DI/OM
[4] 1HE-2SP:SPL SP 7-12 3+ SUPP, 9-11 4-th fit, 11-12 (4333); 1SP-3CL:SPL CL 7-12 3+ SUPP, 9-11 4-th fit, 11-12 (4333)
1HE-2SP-? 2NT:(R);3x:SPL INV+
1HE-2SP-2NT-? 3CL:11-12 (4333);3DI:7-12 SPL SP 3 fit;3HE:9-11 BAL 4 fit;3SP:10-12 SPL SP 4 fit;4m:10-12 SPL SP VAL NA
1SP-3CL:the same methods.

[5] ANT(9-12):
INT-2NT-? 3CL:4-5M;3DIl:max w/o 4M;3M:5m40M;3NT:min w/o 4M
INT-2NT-3CL-? 3DI:(R);3M:NAT 4M.
INT-2NT-3CL-3DI-?  3M:50M;3NT: w/o 5M.

[6] 1DI-1M-2CL: 11-15 55mm or 15+ 5+DlI;-->2DI: 5-9 or 12+;other:NAT INV;
1HE-1SP-2CL: 11-15 NAT or 15-18 BAL or 19-20 4SP or any FG--->2Di:5-9 or 12+;other:NAT INV;
1M-1INT - 2CL: same methods as above.

[7] ANT(11-15 or 15-18)
INT - 3Dl : S/T w/ SOL m or S-SOL M



